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GCSE Mathematics (Linear) 1380
Formulae: Foundation Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

h—a—]

Area of trapezinm = 3(a+ b)h

Volume of prism = area of cross section x length
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T Leave |
blank
Answer ALL TWENTY NINE questions.
Write your answers in the spaces provided.
You must write down all stages in your working.
You must NOT use a calculator.
A
15 > ’
14
Temperature 13 7 N :
(0) 1
12 >éh - \<\
11
10 0 >
Tpm 2pm 3pm 4pm Spm 6pm 7pm 8pm
Time
Harry recorded the temperature in his garden every hour on one particular day.
The diagram shows information about his results.
{a) What was the temperature at 2pm?
_______ 15
1)
(b) What was the highest recorded temperature?
|5
................... °C
(1)
(c) At what time was a temperature of 11.5°C recorded?
+ pm
Y
(d) Describe the change in temperature from 3pm to 8pm.
3] L ©
Fall w 15¢c b e
1 Qt
(Total 4 marks) 1
-
3
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2. (a) Write the number 3104 in words.

WF&KWMSWMMQWJM’ ...................................

0y
(b} Write the number 2493 to the nearest hundred.
243 LE200 .
N M
(c) Wnte down the value of the 4 in the number 34 200
B o =
(1)

{Total 3 marks)

Leave
blank

3. 27 people were on a coach.

18 people got oft the coach. —7 27 - .i g = q
15 people got on the coach. —— q+19 =24 \

(a) How many people are there now on the coach?

gerotf
q +15 = 24
4\351’ on 14
(2)
There were 24 people at the next coach stop.
% of these people got on the coach.
(b) What is % of 247
1y agy= 2_%{_!:24 232 ¥
¥
e o
(Total 4 marks) [
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blank
4. The pictogram shows the number of bicycles sold by a shop on Tuesday, Wednesday and
Thursday. ,
s [©© ©
Wednesday @ @ @
o |0 © © @
- 00
. |000d
Key: @ represents 8 bicycles
(a) Wnite down the number of bicycles sold on Tuesday.
F+3+8 = 24 24
(1)
(b) Write down the number of bicycles sold on Wednesday.
8 + g n 4‘ = 2o 220
4y
16 bicycles were sold on Friday.
+ 28 bicycles were sold on Saturday.
{c) Use this information to complete the pictogram.
2) Q4
(Total 4 marks) T
5

AR R AR R R

Turn over



Leave
blank

yil

U

-5

(a) Write down the coordinates of the point A.

(b) Write down the coordinates of the point B.

{c) On the graph, mark the point (0, —2) with a cross (X).
Label this point C.
1 Qs

(Total 3 marks)
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6. Here are some coins.

Alison puts these 9 coins in a row.
She picks 3 of the coins to make 8 pence.

(a) Write down the value of each of the three coins she picks.

_|_+51:> ........ ;- ....... p

Alison puts the 9 coins in a row again.

(b) (i) What is the smallest amount of money she couid make with 5 of these coins?

®+ +®+@+@

........................................ P
(1) What is the largest amount of money she could make with 5 of these coins?

S b

(2)

(Total 3 marks)

Q6

)
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7. (a) Write the following numbers in order of size.
Start with the smallest number.
45 63 33 57 23
23 33 45 5F £
(B
(b} Write the following temperatures in order of size.
Start with the lowest temperature.
4°C -5°C 1°C -3°C 6°C
o o o 0
............ Sc..z3c. e 4 ..
(1)
(c¢) Write the following numbers in order of size.
Start with the smallest number.
0.32 0.315 0.3 0.39 0.379
0:3 /. 0:315 /032 [0.371 /037
n Q7
(1) hdX
(Total 3 marks) l
8. (a) Measure the length of the line AB.
(3ive your answer in centimetres.
4 | X | B
................ :I' ceereeeeeraeees CT
(1)
(b) Mark with a cross () the point on the line 4B that is 3 cm from A.
1) 2?_31

(Total 2 marks)
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9. Here 1s a regular pentagon.

(a) What is the order of rotational sym ,Lnetry of this pentagon?

(1)
(b} Draw a line of symmetry on this pentagon.
(1)
Murror
line
(¢) Reflect the shaded shape in the mirror line.
ey

_ IR

(Total 3 marks)

A

9
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10. (a) Work out 3x4+5
3Xx4=12
12 + S =1+
[+
@)
(b) Work out §—-2x4
2x4=3
g -2 =0
.............. 6.
(1
{c) Work out 42 + (2 x 3)
(2x3)= 6
42 =6 = T
_____________ L
1 Q1o
(Total 3 marks) _]|
11. (a) Change 2.5 centimetres to millimetres.
icm = (o mne
2.5om = 2-3 Xl 5
........................................ mm
— A5 cnm )
(b) Change 2 kilograms to grams.
l lCﬂ = looo i
2 IC - iobo .............. ‘;l m ........... g
j 1O Qn

(Total 2 marks)
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12. A school shop sells four flavours of crisps.

Sandra kept a record of the sales of crisps in one week.
The table gives some information about the sales.

Flavour Percentage sales D _ (260/0 ' 400 /D + 2 D?é) _
Plain 25% 6o /o
Salt & Vinegar @ | 5 VA
Cheese & Onion 20%
Beef i 6 D/O
(a) Complete the table.
()
{b) Which flavour of crisp had the highest percentage sales?
Salt ¢ Vi neaar -

(¢c) Write 25% as a fraction in its simplest form.
95 25  _ 1
oo 25x4 4 1

The school shop sold 200 packets of crisps that week.

(d) How many packets of Cheese & Onion crisps were sold during that week?

C\reese ¢ Oneowe 20 4
S e/, o—;ff Ao
Ao 4 2gp = wx 2= 40 40

(Total 6 marks) "

11

U A AN SO0  Tumover



13. Here is part of a scale on a measuring jug. — 12
300 —
— 10
] g 8
= 200 —— g
2 —6 3
— =
100 —*
{a) Use the scale to find an estimate for I =
(1) 200 millilitres in fluid ounces,
_____ 1= 12
(1) 4 fluid ounces in mullilitres.
o — 11

(b) What is the reading on each of these scales?

(1) 40
20 60
mph
0 80

..... fluid ounces

L ..... millilifres

(2)

(Total 4 marks)

Leave
blank
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14. Here is a sketch of a right-angled triangle.
Diagram NOT
accurately drawn
4.5cm
.
gcm
In the space below, make an accurate drawing of this tnangle.
Q14
=
(Total 3 marks) i
s
13
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15. Emma has 7 chocolates m a box. W l/LL I-e - 4 1 .
4 of the chocolates are white chocolate. DQY'IQ = S5 .= 1= L}‘
The other chocolates are dark chocolate.
Emma takes at random a chocolate from the box.
(a) What is the probability that Emma takes a white chocolate?
: 4
P(W ]M lf) = —
= 4
| e
@
(b) What 1s the probability that Emma takes a dark chocolate?
~0 3
P(Dﬂfk} = ‘,’?: 3
............. =T
(2) Q15
i
(Total 3 marks) |
16. Work out >+ -
. Work ou <2
Give your answer in its simplest form.
- 3,103 422 98-
<t — "
v 3 3 4 % % 4
D '/'\ 5
ol B ( 7 g 1o o
3,0 o, B _lE P oo
—+—- = = 32 32 32 3%
>4 X3 =
_____________ & s
(Total 2 marks)
. -

G
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blank
17. Shams uses this rule to work out the total charge for photocopying.
Total charge = number of photocopies x copy rate
Shams needs 15 photocopies in colour.
The copy rate for photocopies in colour 1s 6 pence.
(a) Use the rule to work out the total charge.
et O
2)
Shams also needs 25 photocopies in black and white.
The total charge 1s 75 pence.
(b) Use the rule to work out the copy rate for photocopies in black and white.
15 [)ewce, = 295X o Py rate
,@mmh:'w%iS:BWM-
.............................. p
2y Q17
(Total 4 marks)
18. Using the mformation that
74 x 234 =17316
write down the value of
y = 11316
(a) 740 x 234 - 74 Xlo X L34 L 0
17 3160
136 @
U X 234 _ | =
(b) 74 %234 = o = oo
0
° 17316
I Q18
(Total 2 marks)
15
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Leave
x =1 Y = Xl H2 blank
19. (a) Complete the table of values for y=2x +2 =
X -2 -1 0 | 2 3
¥y -2 0 2 4 6 ?
) @
| +Z pallern = +2
(b) On the grid, draw the graph of y =2x + 2
Vi
9
in) /
[s] /
F =
G
5
1
DY ) 0 "x
7
=2
=3
—4
(2)
(¢) Use your graph to find
(i) the value of y whenx =-1.5
_ =
V= e
(11) the value of x when y =7
2.5
T e, Q19
)
{Total 6 marks)
-~

16
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20. The diagram shows the positions of two telephone masts, 4 and B, on a map. o
N
A
N
&
3 166
60
Yewm
A>
C
(a) Measure the bearing of B from A.
60 .
...................................... .(.])
Another mast C 1s on a bearing of 160° from 5.
On the map, C is 4 cm {rom B.
(b) Mark the posttion of C with a cross (X ) and label it C. ‘
®
(Total 3 marks) |
_
17
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21.

2004 Athens 1996 Atlanta

Silver

The pie charts show information about the proportion of medals won by the United
Kingdom in the Olympic Games in 2004, and in 1996.

(a) Sally says “In 2004 we won more Bronze medals than Gold medals.”.
Sally is right.
Explain why.

{b) Ben says “The number of silver medals won in 1996 is more than the number of silver
medals won in 2004,
Ben could be wrong.

Explain why.
e dolt. kBnev. the ackal numbes. .
...... of .medafs won. 1a..1996. . and 2evk.....

{Total 2 marks)

Leave
blank
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22. Hassan is collecting information about the price of petrol during a 6-month period.
His results are shown in the table.
Month Jan Feb | Mar | Apr | May | Jun
Price per litre (p) 96.1 | 962 | 973 | 97.7 | 983 | 99.1
Show this information as a line graph.
I
100
99
//
98 J
Price per EP= a8
litre (p) -
97
- L.f.
L
96
95 i -
Jan Feb Mar Apr May Jun
Month
Q22
T
(Total 2 marks) }
A
19
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23. Work out 423 = 12

You must show all your working.

4 23
x 1z
= 3 4 6

+42_3

(Total 3 marks)

™,
Leave
blank

023
T

24, !

b4

VRN
LU

/)

v

Triangle P has been drawny/on a grid.

(a) On the grid, draw an enlargement of the triangle P with scale factor 3
)

20

IR A



Leave
blank

B

&%)

oo

“u B 2 4 0 1 2 3 4 X
—1

=2

3

_al

Triangle T has been drawn on a grid.

(b) On the grid, reflect triangle T in the y-axis.
@

Y

RN
/i

Triangle Q has been drawn on a grid.

{c) On the grid, rotate triangle Q 90° clockwise, centre O.
() Q24
~

(Total 7 marks) ‘

o

21
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25. Simon wants to find out how much people spend using their mobile phone.

He uses this question on a questionnaire.

How much do you spend using your mobile phone?

£1-£5 £5-£10 £10-£15

(a) Write down two things that are wrong with this question.

1 DV&T\O\,‘?FLn? ....................................................................................

(b) Design a better question for his questionnaire to find out how much people spend
using their mobile phone.
You should include some response boxes.

U Muck/:e,rmmm qfog/tm %QM/E/W}:Ij W
m Ehn le F)’Lvﬂac

o= [
IE%( Ei-s fFé-i° yf!

2)

(Total 4 marks)

Leave h
blank

Q25
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LeaveH’1
blank
26. A solid cube has sides of length 5 cm.
Diagram NOT
accurately drawn
Sem
Scm Sem
Work out the total surface area of the cube.
State the units of your answer. 5 sz.
Sarjcacz JATE cr:[f e faa- 5x5 = AS
Cube has £ )llaczb (Qd,u&/)
unils -
Q26

27. Batteries are sold in packets and boxes.

Each packet contains 4 batteries.
Each box contains 20 batteries.

Bill buys p packets of batteries
and b boxes of batteries.

Bill buys a total of N batteries.

Write down a formula for N in
terms of p and b.

Nuwler o-;tf Faduh 4xp
Niowboes of boxto 2o % o

M;ZL%P + 2ox b
N = 4P+2‘°b

(Total 3 marks)

Q27

B

J

J

L0 0

23
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28. Work out an estimate for the value of 3 1;;_'192 /f—l 2

1 156 %S5
slsf wp BE ‘ o= - 150
Oo)—\| - D.2 30 22 =15
35 %DVL:ISD
0 e 750

Leave )
blank

Q28

AN

29. (a) Expand y(2y-—3)

yxixa_y,xb = 2;1, 39_ 5

(b) Factorise x?—4x
Vx> = XL AxAL -4 xx
~ = 4 Xt '1(»-1 _4)

k is an integer such that —1 << k<3

{(c) List all the possible values of £. ‘

(Total 5 marks)

Q29

TOTAL FOR PAPER: 100 MARKS

END
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